D3POC0188- PURCHASE ORDER CONTRACT BID FORM

Description: LIGHT DUTY MAINTENANCE CREW - SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	1.00	\$ 5.00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	400-	\$ 600,000

TOTAL BID: \$600,00	3.3
CONTRACTOR Four Points Recycling, LLC PO Box 87	
ADDRESS Jacksonville NC 28541	
Federal Identification Number 46.1003850	_
Contractor's License Number	
Authorized Agent Celloll Raynor	CORPORATE
Title Ouce	_
Signature 60040	CORPORATE
Date 32124	SEAL.
Witness Raylello	
Title DoerationsMg/	·) - 3
Signature	Date 3/21/24
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Inst	rance, Bonds, and Contract Execution)
Name	<i>'</i>
Email	

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Date 3/21/2024

Accepted by NCDOT

Date 3/21/2024

TOTAL BID: \$ 654,525.00

D3POC0188-PURCHASE ORDER CONTRACT BID FORM

Description: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	\$405.00	\$ 2,025,00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	BH35,00	\$ 621200 bg

contractor JMC Clearing & Mulching LLC ADDRESS 4959 Harrison-Phéips Rd. La Grange, NC 2855/

Federal Identification Number 85-1829790	
Contractor's License Number 119583	
Authorized Agent Wime Moore	CORPORATE SEAL
Title member laurer	
Signature Signature	CORPORATE SEAL
Witness Frederick M Harrison JR	
Title WHOSS	
	3-19-24
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance,	Bonds, and Contract Execution)
Name Joine Moore	_
Email jaime harrison moore@gmail.com	
Phone 252-559-9960	_

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Reviewed by NCDOT Saun Albino

Date 3/21/2024

Accepted by NCDOT Total Milliam Date 3/21/2024 Structures 2024.

D3POC0188- PURCHASE ORDER CONTRACT BID FORM

Description: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	\$1000.00	\$5000.00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	\$590.00	\$885,000.00

TOTAL BID:	\$890,000.00	
CONTRACTOR PLCL Contra	ctina II C	
ADDRESS PO Box 282 Ayo	den, NC 28513	
		577400000
Federal Identification Nu	mber_83-3822763	" ontracti
Contractor's License Nur	mber_N/A	MBILITY
Authorized Agent Maria	a Rogerson	ORPORA
_{Title} Manager	10 11 (a)	SEAL &
Signature M W	a Regum	GORPORATE
Date 03/20/2024	y	Wemb.
	rio.	7/1/11/11/11/11/11
Witness Annette Harr	15	
Title Office Admin	, _1 .	
Signature WWW	1 Sprun	Date 03/20/2024
Point of Contact for Post-Bid	Inquires (e.g., Letters of Inter	t, Insurance, Bonds, and Contract Execution)
_{Name} Maria Rogers	on	
Email plclcontracting		

Phone 252-341-7953

THIS SECTION TO BE O	COMPLETED BY NORTH	CAROLINA DEPARTMENT	OF TRANSPORTATION
----------------------	--------------------	---------------------	-------------------

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT

Date 3/21/2024

Accepted by NCDOT

Date 3/21/2024

D3POC0188- PURCHASE ORDER CONTRACT BID FORM

Description: LIGHT DUTY MAINTENANCE CREW - SBE FEDERAL

LINE#	ГТЕМ#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	0.00	0.00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	535.00	802,500.00

contractor · Rufus Young Construction - Rufus Young Construction Rd,	ction, inc. Lake Waccamaw N.C. 28450
Federal Identification Number 45-393/405 Contractor's License Number 71799 Authorized Agent Patrick Young Title VP Signature Date 3-20-24	CORPORATE SEAL CORPORATE SEAL
Witness Venita Young Title Sec Signature Venita Young Point of Contact for Post-Bid Inquires (e.g., Letters of In Name Petrick Young Email	Date 3-20-24 Itent, Insurance, Bonds, and Contract Execution)

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Accepted by NCDOT

Date

Date _ 3/2

D3POC0189- PURCHASE ORDER CONTRACT BID FORM

<u>Description</u>: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	
1	0000915000-N	SP	Emergency Mobilization	5	EA	1.00	\$ 5.00	-
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	400-	4 600,000-	_

TOTAL BID: \$600,005	. 00
CONTRACTOR Four Points Recycling, LLC ADDRESS PO Box 87 Jacksonville, NC 28541	
Federal Identification Number Contractor's License Number Authorized Agent Title Signature Date Signature	CORPORATE SEAL CORPORATE SEAL
Witness Title Signature Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance Name Email	777

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Date 3-21-2024

Accepted by NCDOT

Date

D3POC0189- PURCHASE ORDER CONTRACT BID FORM

<u>Description</u>: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	\$420.00	\$2,100,00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	\$ 4 _{20,00}	\$ 630,000,00

TOTAL BID: \$632,100.00	
contractor JMC Cleaning & Mulchi address 4959 Hamson Pholips Rd LC	ng LLC 1 Gronse, NC. 285
Federal Identification Number 85-1829790	
Contractor's License Number 19583	
Authorized Agent Jaime Moore	CORPORATE SEAL
Title Mamber Duner	•
Signature All The Little	CORPORATE
Date 3-19-24	SEAL
Witness Frederick M Horrison Je	
Title Witness	
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	3-19-24
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, B	onds, and Contract Execution)
Name Moore	a a
Email jaimeharnson moore@gmail. Con	n
Phone 252-559-9960	

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Date 3/21/2024

Accepted by NCDOT

Date 3/21/2024

D3POC0189-PURCHASE ORDER CONTRACT BID FORM

Description: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	
1	0000915000-N	SP	Emergency Mobilization	5	EA	\$1000.000	\$5,000.00].
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	\$610.00	\$915,000.00]-

TOTAL BID:	\$920,000.00	
		the state of the s
CONTRACTOR PLCL Contract	cting LLC	
ADDRESS PO Box 282 Ayo		
Federal Identification Nur	_{nber} 83-3822763	
Contractor's License Nun		Contracting
Authorized Agent Maria	Rogerson	SEAL SEAL
Title Manager Signature Maru	<u> </u>	SEAL
Date 03/20/2024	0	Carolin Carolin
Witness Annette Harr	is	NW 501a
Title Office Admin	1	
Signature Care	te Janis	Date 03/20/2024
Point of Contact for Post-Bid	nquires (e.g., Letters of Inte	ent, Insurance, Bonds, and Contract Execution)
_{Name} Maria Rogers	on	

 $_{\mathrm{Email}}$ plclcontractingllc@gmail.com

Phone 252-341-7953

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT

_ Date

Accepted by NCDOT

 $_{Date}$ 3/2

D3POC0189-PURCHASE ORDER CONTRACT BID FORM

Description: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	
1	0000915000-N	SP	Emergency Mobilization	5	EA	0.00	0.00	\ \
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	449.00	673,500.00] L

TOTAL BID: 673, 500.00	'v see aar, passaaky (odkored Javenaueros), john (Hada) Javenaueros er Phograph & r
CONTRACTOR Rufus Young Construction, ADDRESS 7126 Chauncey Town Rd, Lake W.	inc. Accomaw NL 28450
Federal Identification Number 45-3931405 Contractor's License Number 7/799 Authorized Agent Patrick Young Title Signature Pake	CORPORATE SEAL CORPORATE SEAL
Witness Venita Young Title Sec	3-20-29 c, Bonds, and Contract Execution)

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Accepted by NCDOT

Date 3/21/

Phone_

North Carolina Department of Transportation

D3POC0190- PURCHASE ORDER CONTRACT BID FORM

Description: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

LINE#	ГГЕМ#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	100	\$ 5.00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	400	\$600,000-

TOTAL BID: \$600,005.00	
CONTRACTOR Four Points Recycling, LLC PO Box 87 ADDRESS Jacksonville, NC 28541	
Federal Identification Number 46-1003850	
Authorized Agent COOLPANO	CORPORATE SEAL
Signature 3 2 2 2 4	CORPORATE SEAL
Witness Purel	
Signature Date	3/21/24
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bo	onds, and Contract Execution)
Name	
Email	

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Soun Albro

Date 3/21/7024

Accepted by NCDOT

D3POC0190- PURCHASE ORDER CONTRACT BID FORM

Description: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	
1	0000915000-N	SP	Emergency Mobilization	5	EA	\$350,00	\$1750.00	V
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	\$403,00	\$ 604,500.00] V

				<u> </u>
TOTAL BI	D: 4 606,	250.00 v		
contractor DM address 4959	C Cleaning's Mi Harrison-Phelps	0 1 1	LC Grange, NC á	7855]
Witness Free Title With Signature Free Name Name Email	ense Number 19583 at Daime Moove 1847 owner 3-18-24 derick M Harrison 1858	Date 3-	CORPORATE SEAL CORPORATE SEAL \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	ntion)

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT

Accepted by NCDOT_

Date 3/21/2024

Date 3/

D3POC0190- PURCHASE ORDER CONTRACT BID FORM

Description: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	0.00	0.00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	535.00	802,500.00

TOTAL BID: 802,500	out beginn places on on a serie spens is when becomescus earlies a disposing of histories
contractor Rufus Young Construction, address 7/26 Chaunce & Town Rd, Lake	Waccomaw N.C. 28450
Federal Identification Number 45-3931405 Contractor's License Number 7/199 Authorized Agent Patrick Young Title VP Signature Date 3-20-24	CORPORATE SEAL CORPORATE SEAL
Witness Venita Young Title Sec Signature Venitalisms Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Name Patrick Young Email Patman 0482-0 gmail.com	Date Insurance, Bonds, and Contract Execution)

Phone 910-770-3332

THIS SECTION TO	D BE COMPLETED BY	Y NORTH CAROLINA DEP	ARTMENT OF TRA	NSPORTATION
This bid has been review Structures 2024.	wed in accordance wit	h Article 103-1 of the Stand		
Reviewed by NCDOT_	Sam	Nono		ate 3/21/2029
Accepted by NCDOT	Gutten	Miller		ate 3/21/262H

D3POC0190- PURCHASE ORDER CONTRACT BID FORM

<u>Description</u>: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	\$1,000.000	\$5,000.00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	\$620.00	\$930,000.00

<i>TOTAL BID:</i> \$935,000.00 ✓	
	= sin milities = finales = 1
CONTRACTOR PLCL Contracting LLC ADDRESS PO Box 282 Ayden, NC 28513	
Federal Identification Number 83-3822763 Contractor's License Number N/A Authorized Agent Maria Rogerson Title Manager Signature Manager Date 03/20/2024 Witness Annette Harris Title Office Admin	Contraction of the Carpon of t
Signature Guette Harris	Date 03/20/2024
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent	t, Insurance, Bonds, and Contract Execution)
_{Name} Maria Rogerson	

 $_{Email} \underline{\ \ plclcontractingllc@gmail.com}$

Phone 252-341-7953

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT

Accepted by NCDOT

Date 3/21/2024

Date 3/21/7674

ITEM#

LINE#

SEC

UNIT PRICE

AMOUNT BID

North Carolina Department of Transportation

DESCRIPTION

D3POC0191- PURCHASE ORDER CONTRACT BID FORM

QTY

UNIT

Description: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

1	0000915000-N	SP	Emergency Mobilization	5	EA	100	\$5.00				
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	400-	\$609000				
TOTAL BID: \$ 600,005.00											
	CONTRACTOR ADDRESS	F	PO Box 87 Jacksonville, NC 28541	_C							
Federal Identification Number 46.1003850											
	Authorized Agent CORPORATE SEAL										
	Signature CORPORATE SEAL										
	Witness Rafee O										
	Title Signature_	-	2 2		Date_	3/21/24					
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)											

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Accepted by NCDOT_

Date

Date

D3POC0191- PURCHASE ORDER CONTRACT BID FORM

Description: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	\$350,00	\$ 1750,00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	\$403,00	\$604,500,00

TOTAL BID: \$606, 250.00	
contractor JMC Clearing & Mulc address 4959 Harrison-Phops Rd	hing LLC La Brange, Nr. 28
Federal Identification Number 85-1829790	
Contractor's License Number 119583 Authorized Agent Jame Moore	CORPORATE SEAL
Title MCM Ar Jouho r Signature Signature	CORPORATE SEAL
Witness Frederick MHarrison JR	
Signature cederich My avery Date	3-19-24
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance,	Bonds, and Contract Execution)
Name Valme Moore	
Email jaine harrison moure agmail. Con	<u>1</u>
Phone 252-559-9940	

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT Sam Albimo

Date 3/21/2024

Accepted by NCDOT Date 3/21/2024

D3POC0191- PURCHASE ORDER CONTRACT BID FORM

Description: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	\$1000.00	\$5,000.00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	\$620.00	\$930,000.00

TOTAL BID: \$935,000.00	
CONTRACTOR PLCL Contracting LLC ADDRESS PO Box 282 Ayden, NC 28513	
Federal Identification Number 83-3822763 Contractor's License Number N/A Authorized Agent Maria Rogerson Title Manager Signature Manager Date 03/20/2024 Witness Annette Harris Title Office Admin	CORPORATE SEAL CORPORATE ME SEAL CORPORATE ME SHOWN IN THE SEA
Signature Multe House	Date 03/20/2024
Point of Contact for Post-Bid Inquires (e.g., Letters of Inter Name Maria Rogerson Email plclcontractingllc@gmail.com	nt, Insurance, Bonds, and Contract Execution)

Phone 252-341-7953

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Accepted by NCDOT

Date 3/21

Date 3/21/2024

LIGHT DUTY MAINTENANCE CREW FEDERAL

North Carolina Department of Transportation

D3POC0191- PURCHASE ORDER CONTRACT BID FORM

Description: LIGHT DUTY MAINTENANCE CREW - SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	0.00	0.00
2	0000910000 - N	SP	Light Duty Maintenance Crew	1,500	HR	3 4330 P.Y.	802,500.00

802,500,00 TOTAL BID: Rutus Young Construction, inc 6 Chauncey Town Rd, Lake Waccamaw N.C. 28450 Federal Identification Number 45-3931405 Contractor's License Number CORPORATE Authorized Agent SEAL Title CORPORATE Signature SEAL Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution) patman 0482@gmail.Com

THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANS	HIS SECTION TO R	COMPLETED R	V NORTH CAROLINA	DEPARTMENT OF T	RANSPORTATION
--	------------------	-------------	------------------	-----------------	---------------

This bid has been	reviewed in	accordance w	ith Article	103-1 of the	e Standard Spec	cifications for	Roads and
Structures 2024.		0	Α				

Reviewed by NCDOT_

Date 3/21/2024

Accepted by NCDOT

Date 3/ 2

D3POC0192-PURCHASE ORDER CONTRACT BID FORM

Description: LIGHT DUTY MAINTENANCE CREW - SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	
1	0000915000-N	SP	Emergency Mobilization	5	EA	# 4350	# Z,1 75 00	/
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	#435	\$652,500	

TOTAL BID: # 654,675	00 /
contractor Elevated Land Managem ADDRESS 9644 Pracock Rd. Chadba	ent É Excavation LLC
Federal Identification Number 92-1667430	
Contractor's License Number Authorized Agent Clay Clay P	CORPORATE SEAL
Signature Date 3/20/2024	CORPORATE SEAL:
Witness Jordan Nance	
Title Manager Signature Torda- Mance Dat	e 3/20/2024
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance	ce, Bonds, and Contract Execution)
Name Nicky Name	
Email turn row equipment a gr	ail-Con
Phone 910-770-0637 /910-91	

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Date 3/21

Accepted by NCDOT

Date

D3POC0192-PURCHASE ORDER CONTRACT BID FORM

<u>Description</u>: LIGHT DUTY MAINTENANCE CREW – SBE FEDERAL

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	\$1,500.00	\$7,500.00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	\$790.00	\$1,185,000.00

TOTAL BID: \$1,192,500.00 irregular exceeds \$ 1 million
--

CONTRACTOR PLCL Contracting LLC						
ADDRESS PO Box 282 Ayden, NC 28513						
Federal Identification Number 83-3822763	Contraction					
Contractor's License Number_N/A	IN TABILITY CO.					
Authorized Agent Maria Rogerson	CORPORATE					
_{Title} Manager	SEAL 4					
Signature Mana Roleism	CAN CAN DE LA CANADA					
Date 03/20/2024	2019					
Witness Annette Harris						
Title Office Admin	_					
Signature Concelle Lanis	Date 03/20/2024					
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)						
_{Name} Maria Rogerson						

Email plclcontractingllc@gmail.com

Phone 252-341-7953

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

11

Date 3/21/2024

Date 3/21/2024

D3POC0192- PURCHASE ORDER CONTRACT BID FORM

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	0.00	0.00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	8 449.00	673,500

TOTAL BID: 673,500	territorio et mestro de sur a la constitución de la
contractor Rutus Young Construct Address 7/26 Chauncey Town Road, La	tion, inc ke Waccamaw N.C. 28450
Federal Identification Number 45-3931405 Contractor's License Number 71799 Authorized Agent Patrick Young Title VP Signature Date 3-20-24	CORPORATE
Witness Venita Young Title Sec Signature Vendaypung Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Industry Venday) Email Patrick Young Phone 910-770-3332	Date 3-20-24 Insurance, Bonds, and Contract Execution)

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Accepted by NCDOT

Date 3/21/2024

Phone

North Carolina Department of Transportation

D3POC0192-PURCHASE ORDER CONTRACT BID FORM

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	
1	0000915000-N	SP	Emergency Mobilization	5	EA	#21000	\$ 10.00 0.00	1
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	\$460.00	\$ 690,000	9

RACTOR COX CONSTRUCTION GROW ESS 2079 ZION HILL RUPO S	
Federal Identification Number	
Contractor's License Number Authorized Agent	CORPORATE SEAL
Title Signature Date	7" 35 7" 5 75 17"
Witness	
Signature	Date

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Accepted by NCDOT_

Date 3/21/2024

D3POC0192- PURCHASE ORDER CONTRACT BID FORM

		-		V-		V**		7
LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	
1	0000915000-N	SP	Emergency Mobilization	5	EA	\$850.00	\$4,250,00]√
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	\$42 5 .00	\$637,500.00	V

TOTAL BID: \$641,750.00	
contractor JMC Cleaning & Mula address 4959 Harrison- Phelp's Rd.	Ching LLC La Grang, NC 2855
Federal Identification Number 85-1829796	
Contractor's License Number \\9583	
Authorized Agent Jaime Moore	CORPORATE SEAL
Title Member Ouner	SERE
Signature	CORPORATE
Date 3-19-24	SEAL
Witness Frederick MHARRISOR JR	
Title WHYLESS	
Signature Frederick Marris Date	3-19-24
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, I	Bonds, and Contract Execution)
Name Jaime Moore	_
Email jaime my ison moore amo	ilicom
Phone 252-559-9960	_

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT___

Accepted by NCDOT

Date_

Date)/

D3POC0192-PURCHASE ORDER CONTRACT BID FORM

1 0000915000-N SP Emergency Mobilization 5 EA 1.92 \$ 5.92 2 0000910000-N SP Light Duty Maintenance Crew Maintenance Crew 1,500 HR 400- \$ 600,000-	LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
	1	0000915000-N	SP		5	EA	1.00	\$ 5.00
TAMANAUM CANTI	\$ 600,000-							

TOTAL BID: \$ 600,005.00	_
CONTRACTOR Four Points Recycling, LLC ADDRESS PO Box 87 Jacksonville, NC 28541	
Federal Identification Number 46.1003850	
Contractor's License Number Authorized Agent	CORPORATE SEAL
Signature CORP	CORPORATE SEAL
Witness Ray Pelle	
Signature Date	3/21/24
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bo	nds, and Contract Execution)
Name	
Email	

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Accepted by NCDOT

D3POC0193- PURCHASE ORDER CONTRACT BID FORM

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	0.00	0.00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	449.00	673,500.00

TOTAL BID: 673,500.00	i Estraturi plintingnij kiu stak i Propinski slansk holestratika o Grip dideproprosji pi Estrastrativa
contractor Rufus Young Construction, incader Town Rd, Lake	C Waccanaw N.C. 28450
Federal Identification Number 45-393/405 Contractor's License Number 7/749 Authorized Agent Patrick Young Title V Signature Jackson Date 3-20-24	CORPORATE SEAL CORPORATE SEAL
Witness Venifa Young	Date 3-20-24 rance, Bonds, and Contract Execution)

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT___

Date 3-21-2024

Accepted by NCDOT

TOTAL BID: \$1,167.500.00

Email plclcontractingllc@gmail.com

Phone 252-341-7953

D3POC0193-PURCHASE ORDER CONTRACT BID FORM

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000915000-N	SP	Emergency Mobilization	5	EA	\$1000.00	\$5,000.00
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	\$775.00	\$1,162,500.00

CONTRACTOR PLCL Contracting LLC	
ADDRESS PO Box 282 Ayden, NC 28513	
Federal Identification Number 83-3822763 Contractor's License Number N/A Authorized Agent Maria Rogerson Title Manager Signature Nature Na	CORPORATE CORPORATE CORPORATE CORPORATE CORPORATE COMP. Caroling C
Witness Annette Harris Title Office Admin Signature	Date 03/20/2024
Point of Contact for Post-Bid Inquires (e.g., Letters of Into	ent, Insurance, Bonds, and Contract Execution)

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Date 3-21-2024

Accepted by NCDOT

LINE#

L

Phone

ITEM#

SEC

UNIT PRICE

AMOUNT BID

North Carolina Department of Transportation

DESCRIPTION

D3POC0193- PURCHASE ORDER CONTRACT BID FORM

QTY

UNIT

1	0000915000-N	SP	Emergency Mobilization	5	EA	\$2,000	\$10.000.0
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	\$ 480.00	720.000.0
	TOTAL	BIL	: # 730	D. O	oc). eu	
	ADDRESS 367	92	CONSTRUCTION LONG HILL ROAR on Number	SE	Bu		5423
	Contractor's License Number					CORPORATE SEAL	
	Signature					CORPOR SEAL	
	Signature				Date_		
			-Bid Inquires (e.g., Letters o		surance,	Bonds, and Contrac	t Execution)

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_15rd K

Data

Accepted by NCDOT

D3POC0193-PURCHASE ORDER CONTRACT BID FORM

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID]
1	0000915000-N	SP	Emergency Mobilization	5	EA	\$50.00	J4250,00	
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	# 465.00	\$ 697,500,00]_

TOTAL BID: \$761,750.0	0
contractor TMC Clearing 2 Mula address 4959 Hamson-Phelps Rd	
Federal Identification Number 85-1839790	
Contractor's License Number 119583 Authorized Agent Wime Moore	CORPORATE SEAL
Signature Count of Signature 3-19-24	CORPORATE SEAL
	ck M Hornison JR
Signature Juderich Murinff	Date 3-19-24
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insura	nce, Bonds, and Contract Execution)
Name Joine Moore	
Email jaimeharrison moore@gmail.com	\
Phone 252-559-9965	

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Accepted by NCDOT_

Date

Date 3/2

D3POC0193-PURCHASE ORDER CONTRACT BID FORM

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	
1	0000915000-N	SP	Emergency Mobilization	5	EA	1.00	\$ 5.00	
2	0000910000-N	SP	Light Duty Maintenance Crew	1,500	HR	400-	\$609000-	_

TOTAL BID: \$600,005.00	
CONTRACTORFour Points Recycling, LLC ADDRESSPO Box 87 Jacksonville, NC 28541	
Federal Identification Number Contractor's License Number Authorized Agent Title Signature Date 3 2/24	CORPORATE SEAL CORPORATE SEAL
Witness Title Signature Date Point of Contact for ost-Bid Inquires (e.g., Letters of Intent, Insurance, In	3/21/24 Bonds, and Contract Execution)

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT_

Date 3-21-2024

Accepted by NCDOT

Date 3/U